
Reading and Composing Skills Test

Pre-test A

Directions for items 1-12:  Each passage below is followed by questions based on its content.  Answer all questions following a passage on the basis of what is stated or implied in that passage.
Questions 1-3 are based on the following passage.
Line

The North American Numbering Plan, head-quartered on the twelfth floor of a nondescript building in Washington, D.C., distributes telephone area codes across the nation. Not much changed in its 50-year history, until the last few years. New technologies have created a terrific demand for new phone numbers to accommodate faxes, cell phones, beepers, and dedicated modem lines. Not so long ago there were 
only 87 area codes; today there are more than 197.

This explosion of new area codes has meant a kind of psychological dislocation for many people. Everyone used to know that New York was 212, Los Angeles was 213, and Chicago was 312. Now each of these cities has been partitioned like Gaul. The familiar old numbers, so easy to remember and dial, are now lost in a welter of 908’s, 732’s, and 630’s. Most disconcerting of all is that people feel as if they have lost their sense of place ADVANCE \r 1.8 — ADVANCE \r 1.8 without ever moving or changing jobs.

1.
According to this passage, changes in telephone area codes have

(A)
improved the efficiency of communication

(B)
reflected the increasing mobility of our society

(C)
disturbed people’s sense of identification and belonging

(D)
contributed to a greater awareness of geographical regions

2.
The passage states that more telephone area codes have been needed because

(A)
the population is growing rapidly

(B)
new kinds of communication devices require area codes

(C)
neighborhoods prefer to have distinctive identities

(D)
area codes need to match regional zip code

3.
The author uses the historical reference “partitioned like Gaul” (line 9) in order to

(A)
convey the antiquity of the telephone system

(B)
make an ordinary subject seem more literary and artistic

(C)
suggest the inevitability of the improvements brought about by technology

(D)
emphasize the scope of the changes involved in assigning new area codes

Questions 4-5 are based on the following passage.

A trip through northern California’s Gold Country reveals a great deal about the state’s past. In the numerous towns along Highway 49, we can see much to admire in the efforts of the early miners:  the gold that they discovered built the towns throughout the whole region. And in tiny towns with exotic names like Volcano and Cool, the remains of thick, solid stone buildings show the importance of the Chinese in the early settlement of California. The Chinese not only contributed as laborers in the mines; they also sold the necessities of life ADVANCE \r 1.8 — ADVANCE \r 1.8 food, clothing, and medicine ADVANCE \r 1.8 — ADVANCE \r 1.8 in the buildings they constructed of stone and mortar. These buildings must have made the early settlements seem more like real towns.

4.
What does the passage say about California history?

(A)
Most of the miners chose to settle permanently in northern California after the gold rush ended.

(B)
The Chinese made a significant contribution to the settling of the Gold Country.

(C)
The state should officially commemorate the early miners for their contributions to California.

(D)
Miners had to spend most of their money on the necessities of life

5.
The passage indicates that

(A)
the early miners were more interested in building towns than in finding gold

(B)
the Chinese chose place-names that would attract settlers to the region

(C)
the Chinese stores helped to sustain the early settlements

(D)
more money was actually made by selling supplies than by mining

Questions 6-8 are based on the following passage.
In medieval English cookery, sweeteners, like spices, came in different forms. Sugar and honey alternated in popular favor, though most fifteenth-century cookbooks suggest honey “in default of” sugar. Sugar, which had to be imported, was sold in many types (black, white, brown, Indian) and forms (powdered, crystalline, block). When sugar was too scarce or too expensive, honey from domestic hives was substituted. Some recipes called for plain honey, others for honey that was clarified. “Clarifying” required that an older, grainier, solid honey be heated and liquefied to restore its clear translucent state and syrupy consistency.

6.
The purpose of the passage is to show that in medieval England


(A)
sweeteners were as popular as spices

(B)
honey was more popular than sugar

(C)
sugar was rarely available

(D)
sweeteners of several types were used

7.
The passage implies that

(A)
honey was often cheaper than sugar

(B)
sugar and honey were valued equally

(C)
sugar and honey were mostly imported

(D)
medieval cooks often combined sweeteners with spices

8.
As used in line 4, “in default of” means that honey

(A)
was preferable to sugar

(B)
was scarcer than sugar

(C)
could be used in place of sugar

(D)
was a liquid substitute for sugar

Questions 9-10 are based on the following passage.

Attitudes toward business and the people who control it vary with the economic situation. Business executives are usually praised during periods of boom. In the 1890’s, for example, Bishop William Lawrence told his congregation, “The rich man is the moral man.” But the pendulum swung to the other extreme during the Great Depression, when children of successful businesspeople often confessed to feeling guilty about their parents’ wealth.
9.
According to the passage, the popularity of businesspeople is determined by

(A)
their morality

(B)
their public behavior

(C)
the economic conditions of the time

(D)
the attitude of influential public figures

10.
The main purpose of the passage is to

(A)
describe the way that attitudes toward businesspeople can change

(B)
criticize the public for its attitude toward businesspeople

(C)
analyze the practices of business leaders during hard times

(D)
propose a role for business leaders to adopt during recessions
Questions 11-12 are based on the following passage.

Line

It is only in the past three millennia, since the flowering of ancient Greece, that there have appeared most of the events and human inventions that we think of as adding up to Western civilization. During this span there arose ADVANCE \r 1.8 pts. — ADVANCE \r 1.8 pts. in the arts and government, in religion and philosophy, and above all in science, technology, and medicine ADVANCE \r 1.8 pts. — ADVANCE \r 1.8 pts. the works that we point to most often as proof that we are making some kind of progress:  the printing press, the steam engine, barbed wire, the telephone, electricity, the dentist’s “painless” air drill, penicillin, and the cappuccino machine, not to mention such mixed blessings as the internal combustion engine, television, and atomic power.

11.
The author claims that Western civilization
(A)
reached its peak in ancient Greece

(B)
has become too materialistic and dependent on technology

(C)
defines itself by the kinds of progress it has made

(D)
is the first major civilization in history to document its achievements
12.
The author refers to the internal combustion engine, television, and atomic power as “mixed blessings” (lines 7-8) because they

(A)
were developed late in the history of Western civilization

(B)
are much more expensive than the telephone or electricity

(C)
are not as available to some people as they are to others 
(D)
might have negative as well as positive consequence
	Directions for items 13-16:  For each of the following questions, choose the best word or phrase to substitute for the underlined portion containing gliff, a nonsense word.
Example:

Though Mr. Rivera is a gliff man and could live anywhere he chooses, he still lives in the small house in which he was born.

(A)
an unhappy 

(B)
a wealthy
(C)
an ambitious

(D)
a strong


13.
Displaying unexpected gliff, Harry rushed into the burning apartment building.

(A)
scruples

(B)
hesitation

(C)
criticism

(D)
courage
14.
Nikki Giovanni describes in her poems the problems and joys gliff to being a modern African American woman.

(A)
harmful

(B)
unique

(C)
pleasurable

(D)
indifferent

15.
Never once during her nephew’s violin recital did Elena gliff her lack of interest in the performance.

(A)
require

(B)
exert

(C)
resign

(D)
reveal

16.
The proper combination of diet and exercise may be very gliff to one’s health.

(A)
superficial

(B)
beneficial

(C)
subordinate

(D)
natural

Directions for items 17-20:  In each of the following questions, the two underlined sentences have an implied logical relationship.  Read each pair of sentences and the question that follows, and then choose the answer that identifies the relationship.
17.
The fire in the laboratory caused extensive damage.
Now it will take several months instead of two weeks to finish the experiment.
In relation to the first sentence, what does the second sentence do?

(A)
It indicates a cause.

(B)
It presents an example.

(C)
It states a consequence.

(D)
It restates information for emphasis.

18.
Athletes are not necessarily poor students.

John and Theresa are star athletes who have earned above-average grades.

In relation to the first sentence, what does the second sentence do?

(A)
It makes a contradiction.

(B)
It draws a conclusion.

(C)
It makes a comparison.

(D)
It provides an example.

19.
Jim always ordered a tostada grande whenever we went to a restaurant.

Frank, Jim’s best friend, never ordered the same dish twice.

Frank and Jim are being compared in terms of their

(A)
enjoyment of eating out

(B)
passion for Mexican food

(C)
confidence when in public places

(D)
spirit of adventure in eating

20.
The tulips in the full sun bloomed in early April.

The tulips that were shaded by the trees bloomed a week later.

What does the second sentence do?

(A)
It serves as an example of the first.

(B)
It makes an exception.

(C)
It provides a contradictory point of view.

(D)
It points out a contrast.

	Directions for items 21-25:  The following questions require you to rewrite sentences in your head.  Each question tells you exactly how to begin your new sentence.  You should then select the answer choice that allows you to complete the best new sentence.  Your new sentence should be clear and concise; it should have the same meaning and contain the same information as the original sentence.

Example:
The student senate debated the issue for two hours and finally voted down the resolution.

Rewrite, beginning with

Having debated the issue for two hours, . . .

The next word or words will be

(A) the issue

(B) it

(C) the student senate

(D) a vote


21.
People typically fear spiders, but most spiders are actually beneficial.


Rewrite, beginning with


Even though most


The next words will be

(A)
fear of spiders

(B)
beneficial spiders

(C)
spiders are

(D)
people who fear
22.
Lined landfills that are routinely tested for seepage can provide safe disposal for solid chemical wastes.

Rewrite, beginning with

When routinely tested for seepage, . . .

The next words will be
(A)
solid chemical wastes can be disposed

(B)
disposal of solid chemical wastes

(C)
you can dispose of

(D)
lined landfills can provide
23.
Extending more than a thousand miles into the Bering Sea is a chain of volcanic islands that are a part of Alaska.

Rewrite, beginning with

Part of Alaska . . .

The next words will be

(A)
is more than

(B)
of more than

(C)
is a chain

(D)
of an extension

24.
The convention delegates debated party platform issues and then chose their presidential candidate.

Rewrite, beginning with

The convention delegates chose their presidential candidate . . .

The next word or words will be

(A)
and then they

(B)
before the party platform

(C)
after debating

(D)
when issues had

25. My college advisor and I planned my course load, and then I had no difficulty completing my major.

Rewrite, beginning with

Completing my major was not difficult . . .

The next word or words will be

(A)
consequently

(B)
and planning

(C)
once my college

(D)
when planned

	Directions for items 26-30:  In each of the following questions, select the best version of the underlined part of the sentence.  Choice (A) is the same as the underlined portion of the original sentence.  If you think the original sentence is best, choose answer (A).
Example:

Ancient Greeks ate with their fingers, wiped them on pieces of bread, and tossed them to the dogs lying under the table.

(A)  tossed them

(B)  tossing them

(C)  tossed the bread
(D)  they tossed


26.
In the days of the Western frontier, adults and even children had to work hard for them to make a living.

(A)
for them to make a living

(B)
in order that they could make a living

(C)
for making their living

(D)
to make a living

27.
The epicenter of the 1906 San Francisco earthquake was in Olema, and where a legend said that a cow was killed by falling into the fault.

(A)
and where a legend said

(B)
where legend says

(C)
a legend said

(D)
in a legend saying
28.
With Robbins’ autobiography being finished, she began work on a novel about modern cowgirls.

(A)
With Robbins’ autobiography being finished, she

(B)
After she had finished her autobiography is when Robbins

(C)
Having finished her autobiography, this is when Robbins

(D)
Once she finished her autobiography, Robbins
29.
Consumers bought more gifts last holiday season, and less money was spent.

(A)
and less money was spent

(B)
but spending money was less

(C)
but they spent less money

(D)
as less money has been spent
30.
Living on the edge of the cliff was where the native population of birds were subject to high winds and the assorted assaults of nature.

(A)
cliff was where the native population of birds were

(B)
cliff the native population of birds that were

(C)
cliff, the native population of birds was

(D)
cliff, where the native population of birds was
Directions for items 31-36:  Each of the following questions presents a passage with a missing sentence indicated by a series of dashes.  Read each passage and the four sentences that follow it.  Then choose the sentence that can best be inserted in place of the dashes.
31.
-------. The zany comedy of the thirties is gone, its major stars now dead. Never again will the screen be quite so boisterous or quite so inspired in its nonsense as it was in Groucho’s day.
(A)
Groucho Marx was the last of the famous Marx Brothers comedy team to die.

(B)
The death of Groucho Marx reminded many of us of a bygone era.

(C)
Groucho Marx had a varied career before his death.

(D)
Despite his death, Groucho Marx will live on in television reruns of his quiz shows.

32.
-------. The vast quantities of calcium salts in the ocean are used by living creatures and then precipitated in coral reefs and other forms. Eventually, the oceanic deposits of calcium carbonate are lifted up in mountain ranges. These formations are then attacked by atmospheric and organic acids and are slowly dissolved and carried into the sea from which they came.
(A)
It is surprising to learn how many different kinds of salts are found in nature.

(B)
The human body requires large amounts of calcium, although the exact amount varies from person to person.

(C)
The calcium cycle exemplifies the way in which an element in nature is recycled over time.

(D)
The world’s supplies of some resources are being exhausted at an alarming rate.
33.
Shaking hands is an old custom in almost every part of the world. In feudal times it symbolized a vassal’s oath of homage and loyalty to a lord. -------. In Holland and England, people shake hands when introduced. In France and Portugal, employers shake hands daily with each employee. In Italy, Turkey, and Greece, everyone shakes hands constantly ADVANCE \r 1.8 — ADVANCE \r 1.8 in streets, cafés, offices, homes ADVANCE \r 1.8 — ADVANCE \r 1.8 and when meeting and leaving friends.

(A)
Vassals lived and worked on the land, but it belonged to the lord.

(B)
Today the handshake is widely used in a variety of less formal interactions.

(C)
Shaking hands, however, is not the only common means of greeting someone.

(D)
There are still numerous competing theories about how the custom originated.

34.
The first written messages were pictographs ADVANCE \r 1.8 —simple pictures that represented familiar objects such as a spear or a corn plant. -------. To represent emotions, values, or abstract ideas, humans had to move beyond pictographs and develop ideograms:  an eye flowing with tears could represent sorrow, and a man or woman with the head of a lion might signify bravery.

(A)
Thus pictographs may be defined as simple drawings of objects or human activities.

(B)
These pictographs have been found by archaeologists in early cultures from around the world.

(C)
Yet pictographs could not convey much that was important in life.

(D)
But why early peoples carved pictographs on stones and other hard surfaces has never been determined.

35.
Coppola directed The Godfather when he was thirty-three. Lucas made American Graffiti when he was only thirty. Spielberg was even younger when he directed his first box-office hit in the mid-1970’s. -------.

(A)
The old notion that only very experienced directors know how to make commercially successful movies no longer seems to be true.

(B)
Movies today are significantly different from those made in the 1970’s.

(C)
Unfortunately, critical acclaim does not always match commercial success.

(D)
Every good film director has a unique and identifiable style.

36.
For centuries folk songs were created and sung by people who lived in the countryside or in small towns. From their elders, the young learned the melodies and lyrics that became their lifelong companions. But advancing urbanization in the latter half of the twentieth century has nearly eradicated these singing traditions. -------.

(A)
Today the folk song is an endangered species.

(B)
In generations past, folk songs were a major part of a society’s culture.

(C)
Ironically, music wields a powerful influence on people of all ages.

(D)
Folk songs mirror the experiences of the people who sing them

	Directions for items 37-40:  Each of the following questions presents a topic and four sentences.  Select the sentence that provides the best support for the topic presented.

Example:

Many people who have extensive collections become extremely knowledgeable about what is in them.

(A)
Collecting sculptures and paintings can be an expensive hobby, even for very wealthy people.

(B)
Chester Nakamura became an expert on samurai swords by researching his own collection.
(C)
Sara Johnson’s private collection of rare books is so extensive that she had to add a large library to her home.

(D)
Doing something and knowing about it are two different things.


37.
To the surprise of many, roller coasters have been the cause of fewer injuries than merry-go-rounds.

(A)
A passenger-restraint system keeps people from falling out of roller-coaster cars or stepping off in the middle of a ride.

(B)
Technologically advanced roller-coaster rides are necessary to justify the typical $30 admission charge to amusement parks.

(C)
The number of big roller coasters in the United States has increased from 147 in 1978 to well over 200 today.

(D)
Insurance companies keep a close watch on amusement-parks with roller coasters and charge high premiums for coverage.

38.
Many people who buy a house soon wish that they had not.
(A)
Real estate values almost always depend on the location of the property.

(B)
The most difficult home repairs are usually of the electrical system.

(C)
Often it is not until we buy something that we realize the responsibilities of ownership.

(D)
Underinsuring a house against fire is one of the most common mistakes that inexperienced homeowners make.

39.
Throughout his career César Chávez has exhibited a desire to help the migrant farm workers.
(A)
As a young man, he assisted migrant workers through the Community Service Organization.

(B)
For a time during his childhood, the members of his family owned a farm, but eventually they became migrant workers.

(C)
In one job, he earned $1.25 per hour as a grape picker.

(D)
Chávez is a man who should be greatly admired by those who respect personal sacrifice.
40.
Agnes Woo used her special training to design biomedical machines.

(A)
She had to be both a physician and an engineer.

(B)
Hundreds of people are dependent on machines such as pacemakers.

(C)
Some of these machines can cost close to a million dollars.

(D)
Doctors are dedicated to improving the quality of people’s lives.
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